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ECE 301
Fall Semester 2005

HW #1
wlg Name
Due: Sept 6 Print (last, first)

Use engineering paper. Work only on one side of the paper. Usc this sheet as your cover sheet, placed on
top of your work and stapicd in the top lefi-hand cormer. Number the problems at the top of the page, in
the center of the shcet. Do neat work. Underline your answers. Show how you got vour equations.
Be sure to show how youn got vour answers. Fach problem counts 10 points.

(1) Consider the foliowing:
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{2) Find Py, by D. Ans + 40 W
(b) Find Pyos by C. Ans +24 W
{c¢) Findi. Ans +3 A
(d) Find v. Ans +7V
(2) You arc given the following circuit.
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(a) Find the value of R so that Vx =30 V. Ans: R+ 60
(b) Find the power absorbed by the 60 Q resistor. Ans 15 W
{c¢) Find the power absorbed by the 20 Q resistor. Ans 20 W
(d) Find the power absorbed by the resistor, R. Ans 15 W
(¢) Find the power supplied by the 50 source. Ans 50 W



(3} You arc given the following circuit.
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Use branch current methods to find the currents [; and I;. Ans I = 0, ' AL= 0}7{( A

{4) You are given the circuit shown below.
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Find the current Iy, Ans I, =1 A

Text Problem 2.12:
(a) Pasupplics  75W, Pp supplies 25 W, Ppabsorbs 50 W, Pp absorbs 40 W, Py absorbs 10 W
(b) Total power supplied: P=100 W

Text Problem 2.33;
{(a) [,=-2A L1=-2A, L=06A, Is=10A; (b) R,=1chm.

Text Problem 2.38:
Req = 11.4 ohms

Text Problem 2.40;
R =10ochms

Text Problem 2.49:
Van 458V

10. Text Problem 2.61:

Im = 1553 MQ

Other supgested Problems: 2.9, 2.20, 2,43, 2 48, 2.56



